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{ International Trade : Theory and Policy )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x7=7

o RPTIRN O6S (&4 :

(@) Who developed the concept of income
terms of trade?

o O T (T TBRA I 2
(b) Define offer curve.
o 389 IR T |

{c) Write True or False :
WE + SRyE @9

[nelastic reciprocal demand means
favourable terms of trade of a country.
g AR SRR or1 Q9 S
ey pET ITF |
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(2)

(d) What is mixing quota?
ffEre wf{we fds & 2

fe) Who called the utility terms of trade as
the true terms of trade?
@A Trirel afvw e wm qfder 58
fBo1eet e fafze 2

(fi Define free trade.
& qlfess e

{g} State the optimum tariff formula.
I % B! e |

2. Answer the following questions :
oS 2EPITER Ted o
(a) Distinguish between specific tariff and

(b)

(c)

(d)

AQ/204

ad valorem tariff.
JRmefefes we we wrfefes wag wwe
ofrefes et |

How changes in technology affect the
terms of trade of a country?

CEe M et B Gl s s I SE IS I Ee
AT FF 7

What is meant by elasticity of an offer
curve? :

451 oA 99 EfeEeee e 2

Give two important arguments showing
that tariff is better than quotas.

we AR [fEreis Tie w® @@k wol
w3

{ Continued )

2x4=8

(3)

3. Answer any three of the following questions :
5x3=15

worq e R e fefbm T forat

(a) Explain what happens to the validity of
Heckscher-Ohlin  theory in case of
factor-intensity reversal.

To-aEe RASeIeR (PSR-
G felerd wgq (9] T =, TN T4

() Explain Leontief paradox.
forafbaea et = <4 |

(c) Briefly discuss the gains from
international trade.
wrgefes qifderE JRACIE TP SCEAD T4 |

(d) Analyze the productivity-linked terms of
trade by using usual notations.
Frefie Aafes oz Imem R TR
o1 W@ e v Resd 50

fe) Clearly state the classification of tariffs
on the basis of retaliation.

aferngg fofes was @demm  ~v@ea

for41 |
4. Answer the following questions : 10x3=30
e epiEd Ted o
{(a) Critically discuss the comparative cost
advantage model. 10
AACACAGPSC] Gogerd JREE T gDl
HCEBA] 1
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(4)

Or / F231

Define factor endowment. With a
suitable diagram, explain the price

criterion of modern theory. 2+8=10
o ApHeR e | T foag RS
w1y wgs 71 RS T 4 |

(b) Explain how gains from trade is
distributed in terms of the Marshall-
Edgeworth offer curves. 10
-9} o IFd SRES AR o[
czral fRer R Rewe o1 =9, =0 40

Or / 921

Elaborate the various arguments in
favour of protection.

SR A 41 fifen ey g9 4 |

(c) Discuss the various effects of import
quotas under partial equilibrium
analysis. 10
s SR RS srwig AR e
Rfen o Racy SCEms- 391 |

Or / 511

Explain how the welfare of a country is
ensured with the help of an optimum
tariff structure.

I WS AW RS (P G e e
S 23, s
L& & ¢
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